	TABULATION OF BIDS														
PROJECT: Sidewalk Repairs at Various Locations															
PROJECT NO.: HWY-OM-2011-38R  ISLAND: Oahu - Group 1 (Area 1)  DATE ADVERTISED: Internet Posting - November 18, 2011															
			HARON CONSTRUCTION, INC.		H.T.M. CONTRACTORS, INC.		SITE ENGINEERING, INC.		TRITON MARINE CONSTRUCTION CORP.		* MEGA CONSTRUCTION, INC.		IDEAL CONSTRUCTION, INC.		
															BID OPENE
COMPLETION	ON TIME: Twelve (12) Months														
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
634.1000	4-Inch Portland Cement Concrete Sidewalk	40	Sq Yd	\$145.00	\$5,800.00	\$225.00	\$9,000.00	\$212.20	\$8,488.00	\$334.00	\$13,360.00	\$327.00	\$13,080.00	\$287.50	\$11,500.00
634.1010	Removing Existing PCC Sidewalk	40	Sq Yd	\$90.00	\$3,600.00	\$36.00	\$1,440.00	\$76.20	\$3,048.00	\$32.00	\$1,280.00	\$75.00	\$3,000.00	\$255.00	\$10,200.00
645.1000	Electronic Message Board (per day)	1	Each	\$25.00	\$25.00	\$240.00	\$240.00	\$246.85	\$246.85	\$5.00	\$5.00	\$900.00	\$900.00	\$300.00	\$300.00
	Sum of All Items for Group 1 (Area 1)				\$9,425.00		\$10,680.00		\$11,782.85		\$14,645.00		\$16,980.00		\$22,000.00
	Hawaii Products Preference				\$90.00		\$98.50		\$102.35		\$0.00		\$206.00		\$0.00
	Apprenticeship Agreement Preference				\$471.25		\$0.00		\$589.14		\$0.00		\$849.00		\$1,100.00
	Amount for Comparison of Bids				\$8,863.75		\$10,581.50		\$11,091.36		\$14,645.00		\$15,925.00		\$20,900.00
												* Rejected Rid.	- Insufficient Bid E	Rond	
												Nejected Did	- mounden diu i	Joriu	

Project Manager: Christine Yamasaki Date: January 3, 2012

	TABULATION OF BIDS														- ,
PROJECT: Sidewalk Repairs at Various Locations  PROJECT NO.: HWY-OM-2011-38R  ISLAND: Oahu - Group 2 (Area 2)  DATE ADVERTISED: Internet Posting - November 18, 2011															
			HARON CONSTRUCTION, INC.		SITE ENGINEERING, INC.		H.T.M. CONTRACTORS, INC.		TRITON MARINE CONSTRUCTION CORP.				IDEAL CONSTRUCTION, INC.		
											I .	ISTRUCTION, NC.			
											'	<b>чо.</b>			
BID OPENE	BID OPENED: December 22, 2011												_		
COMPLETI	COMPLETION TIME: Twelve (12) Months														
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
634.1000	4-Inch Portland Cement Concrete Sidewalk	40	Sq Yd	\$145.00	\$5,800.00	\$173.75	\$6,950.00	\$225.00	\$9,000.00	\$334.00	\$13,360.00	\$327.00	\$13,080.00	\$240.00	\$9,600.00
634.1010	Removing Existing PCC Sidewalk	40	Sq Yd	\$90.00	\$3,600.00	\$74.20	\$2,968.00	\$36.00	\$1,440.00	\$32.00	\$1,280.00	\$70.00	\$2,800.00	\$210.00	\$8,400.00
645.1000	Electronic Message Board (per day)	1	Each	\$25.00	\$25.00	\$246.85	\$246.85	\$240.00	\$240.00	\$5.00	\$5.00	\$900.00	\$900.00	\$300.00	\$300.00
	Sum of All Items for Group 2 (Area 2)				\$9,425.00		\$10,164.85		\$10,680.00		\$14,645.00		\$16,780.00		\$18,300.00
	Hawaii Products Preference				\$90.00		\$103.85		\$98.50		\$0.00		\$216.00		\$0.00
	Apprenticeship Agreement Preference				\$471.25		\$508.24		\$0.00		\$0.00	•	\$839.00		\$915.00
	Amount for Comparison of Bids				\$8,863.75		\$9,552.76		\$10,581.50		\$14,645.00		\$15,725.00		\$17,385.00
,		÷ .													
												* Rejected Bid	- Insufficient Bid	Bond	

Project Manager: Christine Yamasaki Date: January 3, 2012

## TABULATION OF BIDS

	TABULATION OF BIDS														
PROJECT:	Sidewalk Repairs at Various Locations					·									
PROJECT NO.: HWY-OM-2011-38R  ISLAND: Oahu - Group 3 (Area 3)  DATE ADVERTISED: Internet Posting - November 18, 2011															
		1	HARON CONSTRUCTION,		SITE ENGINEERING,		H.T.M. CONTRACTORS,		I MARINE	* MEGA CONSTRUCTION, INC.		IDEAL CONSTRUCTION, INC.			
		[	NC.	INC.		INC.		CONSTRUCTION CORP.							
BID OPEN	ED: December 22, 2011													1	
COMPLETI	ION TIME: Twelve (12) Months								:					ı	
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
634.1000	4-Inch Portland Cement Concrete Sidewalk	40	Sq Yd	\$145.00	\$5,800.00	\$178.80	\$7,152.00	\$265.00	\$10,600.00	\$334.00	\$13,360.00	\$327.00	\$13,080.00	\$245.00	\$9,800.00
634.1010	Removing Existing PCC Sidewalk	40	Sq Yd	\$90.00	\$3,600.00	\$74.20	\$2,968.00	\$72.00	\$2,880.00	\$32.00	\$1,280.00	\$73.00	\$2,920.00	\$215.00	\$8,600.00
645.1000	Electronic Message Board (per day)	1	Each	\$25.00	\$25.00	\$246.85	\$246.85	\$240.00	\$240.00	\$5.00	\$5.00	\$900.00	\$900.00	\$300.00	\$300.00
	Sum of All Items for Group 3 (Area 3)				\$9,425.00		\$10,366.85		\$13,720.00		\$14,645.00		\$16,900.00		\$18,700.00
	Hawaii Products Preference				\$90.00		\$105.35		\$98.50		\$0.00		\$216.00		\$0.00
	Apprenticeship Agreement Preference				\$471.25		\$518.34		\$0.00	-	\$0.00		\$845.00		\$935.00
	Amount for Comparison of Bids				\$8,863.75		\$9,743.16		\$13,621.50		\$14,645.00		\$15,839.00		\$17,765.00
										* Rejected Bid - Insufficient Bid Bond					
												-			
ı															

Project Manager: Christine Yamasaki
Date: January 3, 2012

## TABULATION OF BIDS

Date:

January 3, 2012

PROJECT: Sidewalk Repairs at Various Locations  PROJECT NO.: HWY-OM-2011-38R  ISLAND: Oahu - Group 4 (Area 4)  DATE ADVERTISED: Internet Posting - November 18, 2011  BID OPENED: December 22, 2011  COMPLETION TIME: Twelve (12) Months			HARON CONSTRUCTION, INC.		SITE ENGINEERING, INC.		H.T.M. CONTRACTORS, INC.		TRITON MARINE CONSTRUCTION CORP.		* MEGA CONSTRUCTION, INC.		IDEAL CONSTRUCTION, INC.		
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
634.1000	4-Inch Portland Cement Concrete Sidewalk	40	Sq Yd	\$145.00	\$5,800.00	\$212.46	\$8,498.40	\$265.00	\$10,600.00	\$334.00	\$13,360.00	\$417.00	\$16,680.00	\$300.00	\$12,000.00
634.1010	Removing Existing PCC Sidewalk	40	Sq Yd	\$90.00	\$3,600.00	\$76.20	\$3,048.00	\$72.00	\$2,880.00	\$32.00	\$1,280.00	\$75.00	\$3,000.00	\$267.50	\$10,700.00
645.1000	Electronic Message Board (per day)	1	Each	\$25.00	\$25.00	\$246.85	\$246.85	\$240.00	\$240.00	\$5.00	\$5.00	\$900.00	\$900.00	\$300.00	\$300.00
	Sum of All Items for Group 4 (Area 4)				\$9,425.00		\$11,793.25		\$13,720.00		\$14,645.00		\$20,580.00		\$23,000.00
	Hawaii Products Preference				\$90.00		\$103.10		\$98.50		\$0.00		\$415.00		\$0.00
	Apprenticeship Agreement Preference				\$471.25		\$589.66		\$0.00		\$0.00		\$1,029.00		\$1,150.00
	Amount for Comparison of Bids				\$8,863.75		\$11,100.49		\$13,621.50		\$14,645.00		\$19,136.00		\$21,850.00
												* Rejected Bid -	· Insufficient Bid I	Bond	